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Note. This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries 10 marks and may have a, b, ¢ as sub questions.

(25 Marké)

" What is the principle of surveying? Explain it in detail. [2]
What is local attraction? How will you determine it in a closed traverse?* [3]
What do you understand by contour interval and on what factors does it depend?

(2]

wWhat are the advantacres ofTrxconometrlc ]evehng over dlrect leveh 0') [3]
What is meant by Degree of curve? Give relation with the radius of curve. [2]

Explain the functions of the following curves: - ©

simple circular curve ify reverse curve. [3]
What are the various applications of GPS in Civil Engineering field? [2]
What are the var 1ous types of EDM 1nst1 uments'7 = [3]

R (50 Marks)
/ '_Ty/Deﬂne surveying. Discuss briefly the classification of surveying based on [,f
i) Purpose M) Instruments.

(bd/ Differentiate between plane surve d geodetic surveying. — 3 [6+4]

3.a)yWhat is the limit.of-accuracy in-conypass suxveyma? ;
'tl averse sm vey conducted w1th prlsmatlc

b) g’u-»-...»-BeIow are t1e beannos observed in;

Line
PQ
QR
RS
e B, N
Afwhat stations d¢ ) :
the lines and also calculate the mcluded angles 'y

4.a)  The following staff readings were taken with a level. The instrument having been
shifted after the 4", 7" and 10" readings. The R.L of the starting point(B.M) is
100.00m. Enter the readings in the form of a level book page and reduce the level
by the colhmatlon method and apply the usual checks




7

5. How do you determine the capacity of a reservoir using contours. - Vs
))a/ The following offsets were taken in meters from a chain line to a hedge — Y
‘ Distance 0 30 60 - 90 120 150 180

Offset - 1 O 8 5 T30 :

Slmpson srule. 77 [3+7]

6. Determine the gradlent from a point P to another point Q from the following
observations made with a tacheometer fitted with an anallactic lens. The constant
of the instrument was 100 and the staff was held vertical. [10]

i : r'i"s'trument n--'Staff statlon Beas Vet
et 5 ~station | e ; angle
R P 130° +10°32° | 1.255,1.810,2.365
Q 220° +5°06 1.300,2.120,2.940

What are the hmlts of precmon in theodohte tr avelsmgV [5+5]
8. A tacheometer was setup at station A and the following readings were obtained

on a vertically held staff: .

Station | Staff station | Vertical angle Hair readings Remarks

R L ofB M
=437.655m

B +8936 1.650,2.515,3.380

Calculate the horizontal distance from A to B and the R.L of B, if the constants of
the instruments werqu] 00 and 0.4.

What are the dxffe 3 ~ L q
/bﬁ/ Draw a neat sketch ofa cxrcular curve and show its various elements theI eon.

5+5]
10. Explain what are the latest advancements in total station techniques and their
ioniﬁcance
/6 W ; g . ﬁ' - [6+4]T
b) Write down var lOLlS applications of GPS. [5+5]
---00000---
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